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mt Fik - BHHEF miE EE kg/108t  FH/10cm  FH/1K

KRERFAEW /8 1 ODHED 29.0 348 7.238
ARERFRFEW = 1 ODHED 23.5 288 5.990
AEFRREW = 1 IR 23.5 236 4.908
ARSI = 2 VDHED 20.2 278 5.782
AEARS] = 2 EHKiE 19.2 252 5.241
A/\RFIRW /8 2 VDHED 26.0 356 6.906
H/\FF#EW bl 1 ODHED 23.5 330 6.402
H\FFEW bl 1 % IR 24.0 244 4733
H/\RFRIRW ok 1 % IR 23.4 264 5.121
A/\RFIEW = 2 ODHED 21.0 316 6.130
A/\RFIEW = 2 VDHED 22.0 318 6.169
H/\FF#EW = 2 5 IR 22.0 234 4.539
A/\RFHRW = 2 EKE 21.5 258 5.005
H/\RFRIRW Lt 3 %R 21.0 288 5.687
H/\RFRIEW Lt 3 IR 20.8 258 5.005
A/\RFIEW = 3 VDHED 20.0 282 5.470
A/\RFIEW = 3 VDHED 19.5 286 5.548
H\FF#EW = 3 5 IR 19.5 254 4927
A/\RFIRW o= 3 IR 20.5 224 4.345
A/\RFFRW o)=2 2 % IR 21.0 244 4.733
ANKRS] = 3 VDHED 18.5 288 5.687
AN = 2 e 18.0 215 4171
ANRSI i 4 5 IR 175 256 4.966
ANRS] & 4 ODHED 16.0 260 5.044
FiAY ] A 5 ODHED 15.0 228 4.423
AN\FRRWmL 2 2 ODHED 19.0 280 5.432
ANRRBER 100 1 EKiE 185 230 4.462

ERYERART




